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jmwq-dsvIN 
Class X 

jrUrI not:- 

1. Bwg-a pRSn 1 qoN lY ky 8 q~k ie~k AMk vwly hn[                                                                                          
 Part-A  From Q. 1 to Q. 8 carry 1 mark. 

2.  Bwg-A pRSn 9 qNo lY ky 16 q~k do AMk vwly hn[ 

 Part-B From Q.9 to Q 16 carry 2 marks. 

3. Bwg-e pRSn 17 qNo lY ky 24 q~k cwr AMk vwly hn[ iehnW pRSnW iv~c iksy vI iqMn 
pRSnW     iv~c AMdrUnI Cot hovygI[ 

 Part-C From Q.17 to Q. 24 carry 4 marks and have internal Choice 

4.  Bwg-s pRSn 25 qNo lY ky 28 q~k Cy AMk vwly hn[ iehnW swry pRSnW iv~c AMdrUnI 
Cot hovygI[           

 Part-D From Q. 25 to Q. 28 carry 6 marks. 

Bwg-a  

Part-A 

hryk pRSn dw 1 AMk h Y: 

Each Question carry One Mark 

 

1. ABwj guxnKMf ru~K pUrw kro:    

  Complete Prime factor tree  

 

2. AMkgixiqk lVI -5,-10,-15,-20,-----,-40 iv~c pihlw pd Aqy sWJw AMqr d`so[ 

   Find first term & common difference in the A.P. -5,-10,-15,-20,---------,-40 

 

3.  dUrI pqw kro[   

Find the distance between PQ. 

 

 4. icqr ivc̀ly Gx dw Awieqn pqw kro[ 

 In the diagram find the value of cube. 

 

 

5.  cos (90o-Ө)= - sinӨ                             (shI/glq) 

 cos (90-Ө)= - sinӨ                (True/False)  

 

P(4,6) Q (4,6) 



 

6.  3 sm ArD ivAws vwly c~kr dw KyqrPl=______ vrg sm hovygw?     
  

Area of circle of radius 3 cm is __________?  

 

7.  id`qw hoieAw AwlyK P(x) dw hY[ 

 P(x) dy isPrW dI igxqI ikMnI hY?  

 (a) Axigxq  (A) isPr (e) ie`k     (s) do 

 The graph of Polynomial, P(x) is given. 

 Find the number of zeros of P(x)  

 (a)     Infinte (b)    Zero (c)      One (d)      Two   

8.  sMXog dy Kyf iv`c sMBwvnW dw v`D qoN v`D mu`l 2 ho skdw hY[ (shI/glq) 

 In a game of choice, max probability can be 2.   (True/False) 

 

Bwg-A 

Part-B 

 hryk pRSn dy 2 AMk hn[ 

 Each question carry 2 marks. 

9.  Xukilf vMf AYlgoirQm dw pRXog krky 404 Aqy 96 dw m.s.v. pqw kro[ 

 Use Eculid division Algorithem to find H.C.F.of 404 & 96. 

10. do GwqI smIkrx 3X2 -2√6X+2=0 dy mUl pqw kro[ 

Find the roots of quadratic equation 3X2 -2√6X+2=0. 

11. hyT id~qy smIkrx joVy nMU h~l kro[ 

 𝑥 − 2𝑦 = 0 Aqy 

 3𝑥 + 4𝑦 = 20 

 Solve the pair of liner equations. 

 𝑥 − 2𝑦 = 0 and 

 3𝑥 + 4𝑦 = 20 

12. jykr doGwqI bhupd X2+4X+4=0 dy isPr pqw kro Aqy isPrW Aqy guxWk dy iv`ckwr sMbMDW 

 dI s`cweI dI jWc kro[ 

Y 

Y’ 

x X’ 



Find the zeros of the quadratic polynomial X2+4X+4=0 and verify the relationship between 

the zeros and the coefficents 

 

13. ic`qr iv`c MQ dw mul̀ pqw kro[ 

 

 Find the value of MQ in the given diagram. 

 

 

14. id`qy gey ic`qr iv`c TP,TQ kyNdr O vwly iksy c`kr qy do 
sprS ryKwvW hn, jykr ∠𝑃𝑇𝑄 =800 qW ∠𝑃𝑂𝑄 pqw kro[ 

 In the given diagram tangents TP,TQ  from a point T, to a 

circle with centre O are inclined to each other at an angle 

∠𝑃𝑇𝑄 =800 .Find ∠𝑃𝑂𝑄 

 

15. hyTW id~qI vMf swrxI ie`k jmwq dy 30 ividAwrQIAW dy vjn nMU drswauNdI 
hY[ividAwrQIAW dw mìDkw Bwr pqw kro: 

vjn     
(ik.gRw iv~c) 

45-45 45-50 50-55 55-60 60-65 65-70 70-75 

sMiKAw 8 3 2 2 3 6 6 

  

The distribution below gives the weights of 30 students of a class. Find the median weight 

of the students. 

Weight     
(In Kg.) 

45-45 45-50 50-55 55-60 60-65 65-70 70-75 

No. of 
students 

8 3 2 2 3 6 6 

 

16. sMXog dy ie`k Kyf iv`c, ie`k qIr nMU GumwieAw jWdw hY[jo ivrwm iv`c Awaux qoN 
bwAd sMiKAw 1,2,3,4,5,6,7,8 ivcoN iksy ie`k qy rukdw hY[ jykr swry pirxwm 
smsMBwvI hn qW iesdI sMBwvnw hY ik qIr sMkyq:- 

  (1) 5 nMU krygw? (2) 8 qoN v`fI sMiKAw nUM krygw? 

 A game of chance consist of spinning an arrow which comes to rest pointing 

at one of the numbers 1,2,3,4,5,6,7,8 & there are equally likely outcomes. What 

is the probability that it will point at:- 

(1)  5                                  (2)  a number greater than 8 

 

 

M N 

P 

R Q 



Bwg-e 

Part-C 

 hryk pRSn dy 4 AMk hn: 

 Each question carry 4 marks: 

17.  ie`k ikSqI ijs dI KVy pwxI iv`c cwl 18 ik.mI pRqI GMtw hY[24 
ik.mI. Dwrw dy ault idSw ivc jwx leI iehI dUrI Dwrw dI idSw 
iv`c jwx leI l`gy smyN qoN ie`k GMtw v`D smW lYNdI hY[Dwrw dI cwl 
pqw kro 

 A motor boat whose speed is 18 Km/h in still water takes 1 hour more to go 24 km 

upstream than to return downstream to the same spot. Find the speed of the stream. 

 

18. jykr iksy A.P  dy pihly 25 pdW dw joVPl pqw kro[ijsdy dUsry Aqy qIsry pd kRmvwr 0 
Aqy 6 hn[ 

 Find the sum of the first 25 terms of an A.P. Whose 2nd and 3rd terms are 0 & 6 

respectively. 

 

19. is~D kro ik iksy c~kr dy iksy ivAws dy isirAW qy iK`cIAW geIAW 
sprS ryKwvW smWqr hMdIAW hn[ 

Prove that the tangents drawn at the ends of a diameter of circle are 

parallel. 

  

 

20. aus iqRBuj dw KyqrPl pqw kro ijsdy iSKr hn  

 P(1,1),Q(6,2) Aqy R(4,5) 

 Find the area of triangle whose vertices are           

P(1,1),Q(6,2) & R(4,5). 

jW    Or 

10 mItr lMbI ie`k pOVI ie`k dIvwr nwl lgwau qy jmIn nwloN 6 mItr dI 
aucweI qy siQq ie`k iKVkI q`k phuMcdI hY[ dIvwr dy ADwr qoN pOVI dy hyTly ih`sy 
dI dUrI pqw kro[ 

 A ladder 10 m. long reaches a window 6 m. above the ground. Find the distance 

of the foot of ladder from base of the wall. 

21. hyT id~qI qqsmk is~D kro ik  

  𝑠𝑒𝑐 𝐴 + 𝑡𝑎𝑛 𝐴  = √  (1 + 𝑠𝑖𝑛 𝐴)/(1 − 𝑠𝑖𝑛 𝐴 ) 

 Prove the identity     

 𝑠𝑒𝑐 𝐴 + 𝑡𝑎𝑛 𝐴  = √  (1 + 𝑠𝑖𝑛 𝐴)/(1 − 𝑠𝑖𝑛 𝐴 ) 

X X

’ 

P 

R 
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Y 

Y



jW  Or 

 mu~l pqw kro[ 

 
5𝑐𝑜𝑠2600+4𝑠𝑒𝑐2300−𝑡𝑎𝑛2450

𝑠𝑖𝑛2300+𝑐𝑜𝑠2300  

 Find the value of  

5𝑐𝑜𝑠2600+4𝑠𝑒𝑐2300−𝑡𝑎𝑛2450

𝑠𝑖𝑛2300+𝑐𝑜𝑠2300
  

22. ie`k bhumMjlI iemwrq dy isKr qoN dyKx qy ie`k do mItr aucI 
iemwrq dy iSKr Aqy q`l dy invwx kox kRmvwr 300 Aqy 400 
hn[bhumMjlI iemwrq dI aucweI Aqy dohW iemwrqW dI ivckwrlI 
dUrI pqw kro[ 

 The angle of depression of the top & the bottom of 2 m. tall building 

from the top of a multi storeyed building are 300 & 450, 

respectively. Find the height of the multi-storeyed building & the 

distance between the two buildings.  

 

23. ie`k △ 𝑃𝑄𝑅 bxwau, ijs iv`c 𝑅𝑄 = 7  𝑐𝑚, ∠𝑄 = 45° Aqy ∠𝑃 = 105° hovy iPr ie`k hor 
∆ dI rcnw kro ijs dIAW BujwvW △ 𝑃𝑄𝑅 dIAW sMgq BujwvW dy 4/3 guxw hox[ 

 Draw a triangle ∆𝑃𝑄𝑅 with sides 𝑅𝑄 = 7  𝑐𝑚, ∠𝑄 = 45°  & ∠𝑃 = 105°  .Then construct 

a triangle whose sides are 4/3 times the corresponding sides of ∆𝑃𝑄𝑅 

 

24. ic`qr iv`c rMgIn Bwg dw KyqrPl pqw kro,ijQy 12 sm Bujw vwly 
ie`k smBujI △ 𝑂𝑃𝑅 dy iSKr 𝑂 nUM kyNdr mMn ky 6 sm ArD ivAws 
vwlw ie`k c`krI cwp iKicAw igAw hY[  

 Find the area of the shaded region in the given figure, where a 

circular arc of radius 6 cm has been drawn with vertex O of an 

equilateral triangle OAB of side 12 cm as centre. 

jW   Or 

 shI imlwx kro: 

 ArD ckr dw KyqrPl         (
360°−𝜃

360
) ×πr2  

 kox A vwly ArD ivAwsI KMf dw KyqrPl   𝝅

𝟐
𝑿 𝒓𝟐 

 kox A vwly ArD ivAwsI KMf dy sMgq cwp dI lMbweI  𝑨

𝟑𝟔𝟎
× 𝝅𝒓𝟐 

 dIrG ArD ivAwsI KMf dw KyqrPl   𝟐𝛑𝐫𝑨

𝟑𝟔𝟎
 

 Match the following 

 Area of semicircle         (
360°−𝜃

360
) ×πr2  

P 

6 cm O Q 



 Area of  sector with centre angle A  𝝅

𝟐
𝑿 𝒓𝟐 

 Length of arc of a sector of angle A  𝑨

𝟑𝟔𝟎
× 𝝅𝒓𝟐 

 Area of major sector  𝟐𝛑𝐫𝑨

𝟑𝟔𝟎
 

Bwg-s 

Part-D 

 hryk pRSn dy 6 AMk hn: 

 Each question carry 6 marks: 

25. pVqwl kro ik smIkrxW dw joVw 4𝑥 − 5𝑦 = 8 Aqy 6𝑥 + 7𝑦 = 9 sMgq hY jW AsMgq hY[ 
jykr sMgq hY qW gRwP ivDI rWhI h`l kro[ 

 Check whether the pair of linear equations 4𝑥 − 5𝑦 = 8 and 6𝑥 + 7𝑦 = 9 are consistent 

or inconsistent. If consistent then obtain the solution graphically. 

jW  Or 

ie`k rwjmwrg qy do sQwn A Aqy B 100 ik.mI.dI dUrI qy hn[ie`k kwr A qoN Aqy dUsrI kwr 
B qoN ie`k hI smyN qy clxw SurU krdIAW hn[ jykr ieh kwrW Al`g Al`g gqI nwl ie`k hI 
idSw iv`c cldIAW hn, qW ieh pMj GMty bwd iml jwxgIAW[ jykr ieh kwrW ie`k dUjy v`l 
cldIAW hn qW ieh ie`k GMty bwd iml jwxgIAW[ dovW kwrW dI cwl pqw kro[ 

Places A and B are 100 km apart on a highway One car starts from A and another from B 

at the same time. If the cars travel in the same direction at different speeds, they meet in 5 

hours. If the travel towards each other, they meet in 1 hour. What are the speeds of the two 

cars? 

26.is~D kro ik do smrUp iqRBujW dy KyqrPlW dw Anupwq iehnW dIAW sMgq BujwvW dy Anupwq dy    
vrg dy brwbr huMdw hY[ 

 Prove that the ratio of areas of two similar triangles are equal to the square of the ratio of 

their corresponding sides. 

jW   Or 

 mUl smwn Anupwqqw iQaurm dw isDwNq ilKo qy is~D kro[ 

 State and prove the Basic Proprtionality theorem. 

 

27. ie`k iglws dI iqrCI aucweI 4 sm hY Aqy iesdy ck̀rI isirAW dy pirmwp (Gyrw) 18 sm 
Aqy 6 sm hn[ ies iglws dw Awieqn Aqy kuJ sqHw dw KyqrPl pqw kro[ 

 The slant height of a Glass is 4 cm and the perimeter of its circular ends are 18 cm and 6 

cm. Find the volume and total surface area of the Glass.. 

jW   Or 



7 sm ivAws vwlw ie`k KUh 20 mItr 
fUMGw puitAw jWdw hY Aqy inklI hoeI im`tI 
nMU ieko ijhy rUp iv`c PYlw ky 22 mI. X 14 
mI. vwlw ie`k cbUqrw bxwieAw igAw hY[ 
ies cbuqry dI aucweI pqw kro[ 

A 20 m deep well with diameter 7 m is dug and  the earth from digging is evenly spread 

out to form a platform 22 m. X 14 m. Find the height of the platform. 

28. ie`k pOdy dIAW 40 p`iqAW dI lMbweI lgBg imlImItr iv`c mwpI jWdI hY Aqy pRwpq 
AMkiVAW nMU hyTW id`qI geI swrxIdy rUp iv`c drswieAw jWdw hY: 

lMbweI imlImItrW iv`c p`iqAW dI sMiKAw 

118-126 3 

127-135 5 

136-144 9 

145-153 12 

154-162 5 

163-171 4 

172-180 2 

 p`iqAW dI m`iDkw lMbweI pqw kro[ 

 If  the median of the distribution given below is 28.5. Find the value of x and y 

 lMbweI imlImItrW iv`c p`iqAW dI sMiKAw 

118-126 3 

127-135 5 

136-144 9 

145-153 12 

154-162 5 

163-171 4 

172-180 2 

 

jW     Or                                                              

hyTW id`qI vMf swrxI ie`k muh`ly dy b`icAW dw rojwnw jyb Krcw drswaudI hY[m`Dmwn jyb 
Krcw 18 rupey hY[AigAwq bwrMbwrqw f pqw kro:  

rojwnw jyb 
Krcw 

11-13 13-15 15-17 17-19 19-21 21-23 23-25 

b`icAW dI 
sMiKAw 

7 6 9 13 f 5 4 

 



  The given distribution shows the number of runs scored by some top batesmen of the 

world in    One -day international cricket matches. 

rojwnw jyb 
Krcw 

11-13 13-15 15-17 17-19 19-21 21-23 23-25 

b`icAW dI 
sMiKAw 

7 6 9 13 f 5 4 

 


